RTFAS 1XAEX b 03

1. ROBFERZMF. (SH40F, A1, BHFR1o45%, C#Hkam)

(1) 5:2=25:z (2) r:60=4:3

(3) 8:(x+2)=4:3 4) B+z):2=(021-12):8
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2. XoFFERZMT. (S0, A1, BH1T 458, C#H4ay)

(1) 14:2=35:2 (2) x:60=6:5

(3) 8:(z+3)=2:3 (4) (B+2):3=(24-12):9
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R#ETAS 1XAENX W 03 BFEESR

1. ROBFERZMF. (SH40F, A1, BHFR1o45%, C#Hkam)

* LkoAEX AADE = RlOE
A:B=C:D & AD = BC

(1) 5:2=25:z (2) r:60=4:3
5xXxx = 2x25 rx3 = 60x4
52 = 50 3r = 240
(3) 8:(x+2)=4:3 (4) B+z):2=(21—-12x):8
(x+2)x4 = 8x3 B4+2)x8 = 2x(21—x)
4(x+2) = 24 8(3+z) = 2(21—1x)
r+2 = 6 —ljd = 4 4B83+z) = 21—z il =2
124+4z = 21—=x
x = 4
5 = 9
9
r = —
5
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2.

ROFGEREMT. (SHk40, A1, B17345%, C#k45)

(1) 14:2=35:2

dxx =
14 = 70
x = b5

(3) 8:(x+3)=2:3

(x+3)x2 =
2x+3) =

T+ 3

8% 3

12 —Tijd = 2

© -

(2) xT:

TXH =

br =

60 =6:

60 x 6

(4)  (842z):3=(24—-12):9

(84+z)%x9
9(8 + )
38+ x)
24+ 3z

4z

3x (24 —x)
3(24 —x)
24 — x

24 — x
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